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rIEbErhbtE (Stratified Random Sampling)
—Z: (Consistency)

B E(RE (Coefficient of Variation)
{RHIELRE (Partial Determination Coefficient)
B FE (Mutually Exclusive Event)

CEEEE 4 GRS
In a questionnaire, respondents are asked to mark their gender as male or female. Gender is an
example of the
(A) ordinal scale
(B) nominal scale
(C) ratio scale
(D) interval scale
(E) None of these alternatives is correct.

. For any continuous random variable, the probability that the random variable takes on exactly

a specific value is

(A) 1.00

(B) 0.50

(C) any value between 0 to 1

(D) almost zero

(E) None of these alternatives is correct.

. In computing the standard error of the mean, the finite population correction factor is used

when

(A) N/n>0.05

(B)YN/n<0.05

(C) N >0.05

(D)n/N<30

(E) None of these alternatives is correct.

. The standard deviation of a point estimator is called the

(A) standard deviation

(B) standard error

(C) point estimator

(D) variance of estimation

(E) None of these alternatives is correct.
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5. If we change a 95% confidence interval estimate to a 99% confidence interval estimate, we

can expect

(A) the size of the confidence interval to increase

(B) the size of the confidence interval to decrease

(C) the size of the confidence interval to remain the same

(D) the sample size to increase
(E) None of these alternatives is correct.
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